

We have prepared a quote for you

2022 FPIU Patrol

Quote # 002139 Version 1

Quote Prepared for:

Smyrna Police Department-GA

Ron Eaton reaton@smyrnaga.gov

Prepared by:

ProLogic ITS LLC

David Scheiwe 678-593-6376 David.Scheiwe@prologicits.com

ProL@gic ITS

Products

Manufacturer Part Number	Description	Price	Qty	Ext. Price
INTG51J-P2L	Integrity Light Bar, 51" Dual Color, Front: Blue/White with Take Down and Full Scene Capabilities	\$2,250.00	1	\$2,250.00
HKB-FPIU20	Strap Kit, 2020+ FPIU	\$0.00	1	\$0.00
416900Z-BW	LED Hide-A-Way, Dual Color, Blue/White 2 Head Light, 2 Reverse	\$69.30	4	\$277.20
MPS62U-BW	MicroPulse Ultra, Dual Color, Blue/White 2 Tags	\$107.25	2	\$214.50
SL6F-B	PB Center	\$319.55	1	\$319.55
SLB-002	Short L Bracket, Latitude PB Center	\$22.00	1	\$22.00
XSM2-BRW-US	Xtream, Dual Head, Dual Color, Blue/White Cargo Windows	\$278.85	2	\$557.70
MPSW9-BW	Micro Pulse Ultra, Wide Angle, Dual Color, Blue/White Undermirror	\$146.85	2	\$293.70
MPSMW9- FPIU20MIR	Pair, Undermirror Light Bracket, 2020+ FPIU	\$22.55	1	\$22.55
416300-BW	Flush Mount LED, Dual Color, Blue/White 2 Rear Facing Lower Bumper, 2 Upper	\$69.30	4	\$277.20
MPS62U-BW	MicroPulse Ultra, Dual Color, Blue/White 2 PB Channel, 2 PIT	\$107.25	4	\$429.00
MPS62U-BA	MicroPulse Ultra, 600 Series, Dual Color, Blue/Amber Spoiler Bracket	\$107.25	2	\$214.50
MPSM6- FPIU20RS1	2020+ FPIU Spoiler Bracket Kit, Mounts -1 MPS6 Series Light Head On Each Side Spoiler	\$107.80	1	\$107.80
PF200R	Pathfinder Siren/Light Controller, Remote Mount	\$918.75	1	\$918.75
ES100C	100W Siren Speaker Inc. w/ Pathfinder	\$0.00	1	\$0.00
ESB-U	Universal Speaker Bracket Inc. w/ Pathfinder	\$0.00	1	\$0.00
PBX07	Push Bumper, Center Section, 2020+ FPIU	\$433.00	1	\$433.00

ProL@gic ITS

Products

Manufacturer Part Number	Description	Price	Qty	Ext. Price
PBX-PIT07	PIT Bar, 2020+ FPIU	\$490.00	1	\$490.00
PBXW-FPIU20	Wing Wrap, 2020+ FPIU	\$329.00	1	\$329.00
PBX-TC2L-3	2 Light Channel, MicroPulse	\$27.00	1	\$27.00
C3RNRDC-60L- BW	Outliner, 60", Left Wire Exit, Dual Color, Blue/White	\$275.00	1	\$275.00
C3RNRDC-60R- BW	Outliner, 60", Right Wire Exit, Dual Color, Blue/White	\$275.00	1	\$275.00
RNRBKT-PIU20	Outliner Brackets, 2020+ FPIU	\$18.50	4	\$74.00
475-0063	Ford PI Utility (2020+) Space Creator Vehicle Partition Featuring Bidirectional Recessed Housing (HS/HV Window Option)	\$680.58	1	\$680.58
475-0968	High Security Extension Panel for 2020+ Ford PI Utility VP9 Space Creator Vehicle Partition - Two Piece Steel HSEP	\$98.31	1	\$98.31
475-1486	Ford PI Utility (2020+) Secure-Grid Window Armor and Door Control Covers	\$281.96	1	\$281.96
PK1437ITU202ND	Expanded Metal Rear Partition	\$473.69	1	\$473.69
425-6508	Ford PI Utility (2020+) Integrated Printek Brother Contour Console - IPBCC	\$433.74	1	\$433.74
425-0150	The Mamba Mount	\$314.12	1	\$314.12
425-2250	Side Sliding Armrest for PI Utility 2020+	\$48.92	1	\$48.92
425-6666	Federal Signal Pathfinder PF200R (Remote Head) - 3" Faceplate	\$0.00	1	\$0.00
BSK-ELS-275	Inc. w/ Console Gun Rack, AR15 With Handcuff Key Override	\$308.19	1	\$308.19
	Gun Rack Mount			
BSK-VMP-2		\$26.71	1	\$26.71
SS0009	Safe Stop for 2020+ FPIU	\$157.90	1	\$157.90
ES100C	100W Siren Speaker	\$204.60	1	\$204.60
ESB-U	Universal Speaker Bracket	\$25.30	1	\$25.30

Subtotal: \$10,861.47

ProLegic ITS

ProLogic Services

Manufacturer Part Number	Description	Price	Qty	Ext. Price
PRLOGICSVCS	Installation includes the list of items mentioned herein. All other parts and or equipment not listed will be subject to additional installation fees.	\$1,739.00	1	\$1,739.00
	Customer will be responsible for transporting vehicles to the installation facility unless otherwise noted. Let it be known, Installation Services will not be scheduled until all product arrives at the designated install facility.			
Shop Supplies	Shop Supplies	\$109.00	1	\$109.00

Subtotal: \$1,848.00

ProLegic ITS

2022 FPIU Patrol

Prepared for:

Smyrna Police Department-GA

, Ron Eaton (678) 631-5169

(678) 631-5169 reaton@smyrnaga.gov Bill To:

Smyrna Police Department-GA

Ron Eaton

,

Ship To:

Smyrna Police Department-GA

Ron Eaton

Quote Information:

Quote #: 002139

Version: 1

Delivery Date: 06/24/2022 Expiration Date: 07/23/2022

Quote Summary

Description	Amount
Products	\$10,861.47
ProLogic Services	\$1,848.00

Subtotal: \$12,709.47

Shipping: \$685.00

Total: \$13,394.47

Taxes/Labor/ Shop Supplies, will be invoiced upon completion***

Payment Terms: Net 30 Days. After 30 days, unpaid balances are subject to a 1.5% handling fee per month (18% annual). Warranty covers manufacturer defects only, excluding battery defects, unless explicitly stated herein. Dual-signed Scope of Work will be required prior to placing initial order.

Prices and tax rates are valid in the U.S only and are subject to change. Taxes represented in quotes are estimates and may vary from taxes reflected on invoice (based on physical ship-to address).

Sales/Use tax is a destination charge (i.e., based on physical ship-to address on purchase order). Please indicate your taxability status on your PO. If you aretax exempt, please include proper documentation. If you are not tax exempt, please calculate and include all applicable tax on your PO. Hardware cancelations may be subject to up to a 50% restocking fee.

See Terms and Conditions at www.prologicits.com/terms-conditions/

Quotes are valid for 30 days only and are subject to change without notice due to the imposition of new trade tariffs

^{***} Due to current supply chain constraints, ProLogic will invoice for all parts and or hardware upon receipt and in advance of scheduling services.



Smyrna Police Department-GA

Signature:	
Name:	
Title:	
Date:	